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#define Max 13 //
#define Mn 7 [/
char isx[ Max]; //
char rez[Mn]; //

I nt | St ; [/

[/ 1
float rst; [/

/1 1
I nt I W [/
I nt I rd; /]
float rrd; /]

void main (void) {
ist= (int)(Max / Mn);
rst= (float)(Max - ist*Mn)/ (fl oat)M n;
Ird= 0; rrd= 0.0;
for (iw=0; iw < Mn; iw++) {
ird=ird + ist; //
rrd=rrd + rst; //
if (rrd >= 1.0) {rrd=rrd-1.0; ird=ird+1;}
rez[iw]=rez[ird-1];

}
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H

#define Max 13 //
#define Mn 7 [/
char isx[ Max]; //
char rez[Mn]; //

I nt | St ; [/
[/ 1
I nt rst; [/
/1
I nt I W [/
I nt I rd; /]
I nt rrd; /]

void main (void) {

ist= (int)(Max / Mn);

rst= Max - ist*M n;

Ird= 0; rrd= 0.0;

for (iw=0; iw < Mn; iw++) {
lrd=ird + ist; //
rrd=rrd + rst; //
if (rrd >>= Mn) {rrd=rrd - Mn; ird=ird + 1; }
rez[iw]=rez[ird-1];
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